EARAROREIERT —IN—BISTH—F 202385128 (1) 3EFE1E

3R BERY AR ‘(fﬁ} B ‘[%EH?’;F&] — | & 12000 B

[AE=%] 1 7% :5,500,000 § ~ 27 :2,200,000 @ .~ 37 :1,400,000 H 4 3&:830,000 . 5 7&:550,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. =} . - f ¥
118114 FamIRTYVS 4 3 E%I" 1.(1_1).4 1-1 37.0| 90.9 | 4 :1:)24; Sﬁ%ﬂﬁ%ﬁ)
RIUFPWRT 4= B:F1997IL— B IE—
awaw o~ ZEEA 12, - . . AL /)
21815/ 7¥¥arT (4R [B] 3 8% 1(152)3 N A e f;g STL—yv7
RiRLTAY B:YPI/RYT =)L =y iire]
) 4t 3 | KEVEE 1:12.8 5-6 37.9]78.2| 3 458 | PIIRR 8
fa 'j“I'fJEI’f!B] #53.0 @) (© |EPEE
R:LYRIZIVIR B:EAIDAIAI BLIHBUS
RSN st 3 | SlEes 1:13.0 9-9 37.6| 76.4 | 8 482 | PIIRR EH)
A RRARS /Y 54.0 a 174 46) | DIAR. THLRR. ZFATW (
R:ZRIU—vEe—O— B:EYYv b ASARIw b
sy — EREAER 13, - . . Bt (B
LFPI—=FZ i3 56 1(71?:; 3-5 38.4| 75.8 | 1 :1524) it
RiNZ—ka1—X B:L7ROVYS EHERIY R
<7 IUTF - 3 gﬁ%ﬁiﬁ 1( 71%:; 1-11 |37.5]75.6 | 1 (1113421) fg%i; (=)
Ry RI7IVIR B:IY/ZRIVIN (/) #HB8I1-RL—yavEEI 7
< <, an JtMREl 13, - . . B (EH)
AT TU— 4t 3 54_07— 1(123)4 9-9 38.0] 729 | 5 ?ﬁ) ;.:EE;?;E
R:RVTHY B:Fq—TFVa1TU— /=Y IT7—L
-~ N~ ft 3 | FRHSE 1:13.5 1M-11 379 71.9 | 2 46 | /NERRER (i)
glz]13| OdFvN—ov 54.0 e ve | B A—FUER
R:OI394F 8: h—I—F1A4—% Ly rRF—T I
y —3 4 3 | WMEIES 1:13.7 3-3 39.0| 71.1 | 13 | 520 |HHEl GER)
ol 10|V /=Y 54.0 ) (-6) | D0EEH
RIE-UR B:O—IWFVTI—I s
. s 3 | SH= 1:13.7 11-13 [38.0] 70.2 | 9 477 | BEAA GEH)
10/5|8 | X7 ILFE+ 54.0 \F) ¢g) |LRU—Z @)
R:SVN—0 O/ FEF At 8|
==Y st 3 | AvIES 1:13.9 7-7 38.6| 68.7 | 10 | 420 |EAES )
11111 3ANILYR A52.0 172 © |TEsE
RT—IURI—R 8:LRIINILY BR&M TTINL-ZVIEVSY
~ 4 3 | EFOKKER 1:14.2 14-14 37.7| 65.7 | 14 472 | RERL )
181 PAZEOD 54.0 @ (—) |EmxE
KRR MOD B:y—9'—0-X BAKIS
= < BORET 1:14. 7-7 4| 63. 12 | 428 |EWADE ()
13/5] 9 | F5—FUVER 3 EED (2)6 o (0;3 R
RiboFO—LR 8:Y4—F AN K MEZI Y R
83 | AVASEE 1:14.6 2-2 40.1] 64.4 | 6 444 | AERER (27)
140Y 4 | T LA *50.0 @) (o) | 1BIER
RVAVF—R BFSF 011225
S e 4 3| F L& 1:16.4 15-15 37.1| 46.1 | 15 46 | FIEEN EH)
157 12| XM a0V 7F 54.0 (94H) (-g) | TAIEFLE
R:RITT«4 B:XA4¥3v0330 i —
[ BN
En'y 48.4-37.0
NOYg4L | 12.0-11.0-11.4-12.5-12.2-12.3
@ 11— —BBIEIL
13—7F—
20—F—
Ia=5r= (4,%14) (6,10) (3,15) (1,9) (2,5) (7,8,13)=11=12
40—F— 14,4(10,15)6,3(1,9) (2,5) (7,13)8-11=12
o ILRE
BB 14 1,370 JA R 14-15 1,700/ & 8-8 11,100 3EE 3-14-15 34,410
B B 14 4804 3-14 1,430 o 18 14-15 10,730 3Es 14-15-3 267,030/
15 430 3-15 1,820 oS- 14-15 23,150
3 280M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




